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asym_bcm_target RMS (ppm)
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asym_bcm_an_us RMS (ppm)
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asym_bcm_an_ds (ppb) 1D pull distribution

X2 / ndf 16.56 /50
Mean -0.01821+ 0.07976
— + F
3000 p0 168.1+ 220 F
L Std Dev 0.5696 + 0.0564
2000 161 '|_
r Underflow 0
1000 14 [ Overflow 0
0 - X2 / ndf 1.394/3
12t~ )
~1000 ® | Constant 17.27 +3.08
o Mean 0.1222 +0.1394
-2000 10~
: Sigma 0.6572 + 0.1066
-3000 L
8_
-4000 N |
-5000 5
AEEENENEEEEEE NN E N [
........... e AL
0.5 [
O B P pmaens e T e e L
-0.5 2r
_1 - L
_1-5 ................................................ -III|III|II |||||| II|II|||||

0
8 6 4 2 0 2 4 6 8



asym_bcm_an_ds RMS (ppm)
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asym_bcm_an_ds3 RMS (ppm)
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1D pull distribution
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asym_bcm_dg_ds RMS (ppm)
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diff_bpmE RMS (um)
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(wn) SNY

[ ZAc14
[AZA14
Tv.Lov
0'v.9Y
V'eELOY
€'€LOY
[A7Ac14
T'eLor
0'€L9Y
€¢LoY
celoy
Telov
0'¢Lov
V'TL97
€TLOY
CTL9Y
TT.L97
0'TL97
7’6997
€699
2'6997
16991
0'6997
'899Y
€899
2’8997
T1'8991
08997
v'.99v
€'/,997
2'L99Y
1,997
0,997
'999Y
€999
2’9997
T'999%
0'9997
7’9997
€999
2’9997
T'5997
0'599Y
T'v99v
0'v99y
T'€99Y
0'€99Y
€299
2299
T'c99r
0'¢99y



300

200

100

-100

-200

-300

diff_bpm4eX (nm)

X2 1 ndf 35.13

pO -32.96 +

/50
15.2

1D pull distribution

Mean 0.02598 + 0.1162
r Std Dev  0.8295 + 0.08213
12 Underflow
B Overflow
10 X2/ ndf 2.333/4
- Constant 12,11+ 2.36
sl 1 Mean -0.0203 + 0.1743
i _ Sigma 0.8944 + 0.1565
6 u
4_ L
2_
0|||||||| lhoaloaal I
-8 -6 -4 -2 0 2 4 6 8




diff_bpm4eX RMS (um)
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diff_bpm4aY RMS (um)
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diff_bpm4eY RMS (um)
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diff_bpm11X RMS (um)
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diff_bpm12X RMS (um)
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